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MDDE in 1970 launched the dairy developrment prograrromne called:
Options:

1. % Cperation Flood

= % White Flood

3. ¥ Milk Flood

4. % Total Flood
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MGMNREGA was enacted on

Options:

1. % 7th Septemnber 2005
2. % 7th Moverrber 2005
3. % 7th Septemnber 2007

4. % 10th March 2007
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Sarva Shiksha Abhivan is Government of India’s flagship programme for achievernent of -
Options:

1. ¥ Universal Elermentary Education

= % Higher Secondary Education

3. % Universal Free Education

4. % Higher Tertiary Education
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Cirector—-General of WO

Options:

1. ¥ Roberto Azevedo
2. % Roberto Clive

2. % Enrique Jacob

4 % Fernando de Mateo
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& process whereby a part of the income generated by the asset-owning class filters down to assetless section
of the society called:

Options:

1. % Trickle-down

Z % Growth distribution

3. % National incorme generation
4. % GDF of India
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The first atternpt to estimate national income and per capita income was made by:
Options:

1. ¥ Jawaharlal Nehru

2 ® VKRV Rao

3. % Dadabhai Naoriji

4. % Rajagopal Chari

Question Number : 6 Question Id : 79840719992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:

Question Number : 7 Question Id : 79840719993 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66



The growth which advances equitable opportunities for econormic participants during the process of econormic
gromett with benefits incurred by every section of society is called:

Options:

1. ® High growth

= ¥ Inclusive growth
2. # Stable growth

4. % Eronormic Growth
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Microfinance was initiated by Bangladesh Econormist
Options:

1. % Frof Muharmmad Yunus

2. # Prof Muhammad Khan

3. % Prof Z.A. Khan

4 % prof. Schal Khan
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Social goods are goods which are consumed by all citizens and increase the:
Options:

1. ® Tax burden

= % Production

2. ¥ welfare of society

4 % Taxes
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The GST will be a major milestone for:
Options:

1. % Indirect tax reform

2. # Direct tax reforms

2. % Customs reforms

4 * Seryice tax
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The terr ‘BLUE" used in regressicorn analysis stands for:



Options:

1. % Eest logical under estimate

2. ¥ Best linear unbiased estirmate

3. # Better logistic unboxed estimator

4 % Best linear understood measure
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Statistically significant correlation between independent variables in a regression function is termed as
Options:

1. % Multicollinearity

= % Auto correlation

2. % Partial correlation

4. % Regression coefficient
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At the saturation point of cormmodity v, the MU is
Options:

1. % Positive

> % Zaro



3. % MNegative

4. % MNone of the above
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In1 the priscrer’'s dilermma, each plaver is

regardless of the other player’'s actions
Options:

1. ¥ Better off confessing

2. ® Forced to confess

3. % Better off denving

4. % Forced to deny
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The elasticity of substitution between two inputs in CES production function -
Options:

1. % Decrease continuously

2. % Increase continuously

2. ¥ Rermains constant



4. % Negative only
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Wwhen a perfectly cormnpetitive industry is taken over by a monopoly, some consumer surplus is transferred to
the monopolist in the form of

Options:

1. ¥ Taxes

= % Marginal cost

3. # Deadweight loss

4. % Econormic profit
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Each seller determmunes his price orl the asswmption that his rival will keep his price constant, under

Options:
1. % Bertrand's Model
2. % Sarmuelson’s Model

3. # Edge worth Model



4. % Price leadership
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The purchase of a new home is included in the GNF as a part of
Options:

1. % Capital consurmnption allowance

2. % Personal consumption expenditures

3. ¥ Investment

4. % Personal saving
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lven a random variable xl where ini = 1,2, ————-—- . 1 wllich are matually independent and collectively
exhaustive then the EG) 15

Options:
1. % arithmetic mean
2. % Harmonic mearn

2. % First central momert



4 # Standard deviation
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Social accounting of National Income addresses to the issue of

Options:

1. % Public expenditure on social infrastructure

2. ¥ Revenue receipts from and public expenditure on social services

=, ¢ Estimating what is being produced, where, how much and how and who consumes what and how rmuch

4. % Share of national income going to the socially back ward groups
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The tax which is not shared by states of India is
Options:

1. ¥ Sales tax

2. % Income tax

=, ¥ Corporation tax



4. % Zentral Excise duty
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[t is generally believed that a rise in the tax rate would normally lead to a rise in the revenue. But there is also a
view the reduced rates on income tax would lead to a significant rise in income tax revenue. This later view has
been attributed to

Options:

1. % Arthur Laffer

2. % Robert Lucas

2. % Herbert Simon

4, % ]B say
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The Agricultural Holding Tasx (AHT) was recornunended by a corrorittes headed by
Options:

1. % C H. Hanumantha Rao



= % ML Dantwala
3. % R.]. Chelliah
4. ¥ K. M. Raj
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The Singer-Prebisch theory maintains that

Options:

1. % Less developed countries suffer a welfare loss from secular decline in terms of trade due to primary
product exports

2. % Less developed countries always gain in trade when they trade with developed countries

% % Less developed countries lose in terms of welfare but gain in terms of foreign exchange

4. % Dependence upon trade for development is not harmful to less developed countries
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DWW statistic is used for detecting



Options:

1. # Homoscedasticity

2. % Hetroscedasticity

3. ¥ Contemnporeous correlation

4 % Auto-correlation
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& COountry is poor Decause it 1s poor” are the words of -
Options:

1. ®¥ BE. Singer

2. ¥ R. Nurkse

2. % ] R Hicks

4. % G Myrdal
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which one of the following is a transfer income?
Options:

1. # The salary of an M.F.

2. % Company dividends to share holders



2. # Rents from house property

4. % Unemplovment allowance
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Government released a document signifying the road map of Socio-econormic development of MNorth-East
States. This docurment 15 kridwrl as -

Options:

1. % Vision 2020
= % Vision 2015
3. % Vision 2012
4. % Vision 2030
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Which country produces maximurm tea in the world?
Options:

1. ¥ India

2. % China

3. % Srilanka

4. % Japan
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which state produces maxinmur sovabean?
Options:

1. ¥ Madhva Fradesh

2. ® Uttar Pradesh

3. % Andhra Pradesh

4. % Rajasthan
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MNational Agriculture Policy aims the growth rate of
Options:

1.9 Above 4% pa

2 ¥ 3-4%pa

3% 2-3%pa

4 % Abhove SXpa
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Options:
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The rminirmum nurmber of women needed for making a ‘Working Group’ under DWCREA programume is
Options:

1. % 20

Z % 15

3.9 10

4. % MNo limit
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Options:
, » 20

o ® 15
3 ¢ 10
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The Term ARIMA in tirme series models stand for
Options:

1. ¥ Average Regression In Moving Average

= ¥ Auto Regressive Integrated Moving Average

3. % Auto Regressive Interpretation of Moving Average

4. % Autormnatic Regression Integration and Monthly Average
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Meera Seth Cormrnittee related to
Options:

1. ¥ Developrnent of Handlooms

2. % Sex-differentiation in emplovment
3. % abolition of Child Labour

4. % Welfare of Working Wornen
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“Cormrmodity balances” is one of the assumptions of a technique used by economists:
Options:

1. # Lirear programing

Z. % Index nummbers

2. ¥ Input-cutput analysis

4. % Garme theory
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which of the following is not a desirable attribute of money?

Options:

1. % Readily accepted in exchange

2. % Designated 'legal tender’

3. ¥ Decreases in its purchasing power

4. # Easily transportable
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Arl econoruc unit that spends more than it receives i a given pericd:

Options:

1. # Isa ‘surplus unit’
2. % Should lend

3. % May be a creditor

4. % s a ‘deficit unit’
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The difference between a ‘money market’ and a ‘security market’ is:

Options:

1. ® The former is a primary market, the latter is not

2. % The latter is a market for trading securities, the former for buving and selling money

Z. % The former is a market for short-term debt obligations; the latter is a market for long-term securities

4. % There is no legitimate distinction
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Interbank transfers are important to an individual bank because:
Options:

1. ¥ It may obtain reserves and as a result expand its lending potential
2. % It may expand its loans by a multiple of the amount of the transfer
3. % It tends to increase its liquidity

4. ¥ [t increases its time and savings deposits
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Correct : 2 Wrong: 0.66

High - powered’ money 15

Options:

1. ¥ Cnly bank's deposits at the Reserve Bank
=z % Allloans of banks

3. # All loans and securities of banks

4. % Money held as legal bank reserves
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The marginal value product of labour {or value of the rmarginal product of labour) equals:
Options:

1. ¥ The marginal product of labour times price

2. % Price times marginal cost

3. ¥ The marginal product of labour divided by price

4. % The marginal product of labour plus price
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The concept of ‘unit root” is used in modeling economic data in

Options:



1. % Structural form models
2. % Reduced form models
= % Cross section models

4 % Time series models
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which of the following points is not manifested by the simplified circular-flow-of-income diagram?
Options:

1. ¥ Production involves two different markets

2. % The flow of output and income are equal

3. ¥ Aggregate demand and aggregate supply determine the price level

4. % Output can be viewed in real or monetary terms
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Total business saving 15 cornposad of:

Options:
1. ® Capital consumption allowances and dividends
2. % Dividends and undistributed corporate profits

3. % Undistributed corporate profits and corporate profit taxes



4. % Undistributed corporate profits and capital consumption allowances
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A businessman’s opportunity cost of using his own funds to undertake an investment is the:

Options:

1. # Cost of purchasing the machines and other things necessary to undertake the investment

2. ¥ Interest income he could receive if he loansed out the funds that would be required to make the investment
% % Operating cost of machines needed for the investment

4. % Cost of determining the rate of return of the investment opportunity
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If the marginal efficiency of investment equals 7% and the interest rate is 6% :
Options:

1. # The investment project is not profitable

2. ¥ The investment project is profitable

Z. % The return on the investment is too low

4. % The net profit or loss associated with the investment is 12 percent



Question Number : 46 Question Id : 79840720032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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which of the following will cause the I = 5 curve to shift outward to the right?
Options:

1. # Anincrease in saving at all income levels

2. ¥ Anincrease in taxes at all income levels

= % 4 reduction in government purchases

4. ¥ Technological change that increases investment at all interest rates
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If an asset is highly liquid, it:

Options:

1. % Can be converted into cash in a very short period of time with little loss of value

2 % I3 backed by a government guarantee of payment should the issuer go bankrupt

% % Can be readily converted into cash, but the owner will probably realize a significant loss

4. % Can be converted into cash with little loss of value, but it usually takes a long time to find a buyer
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Options:
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Sampling distribution is used in inference analysis. Sampling distribution is defined as a distribution of
Options:

1. % Sampling statistic

2. % sample observations

Z. % Population parameters

4. % Observations of the population
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In the classical range of 15-Li model the

Options:

1. # Fiscal policy is effective if investment is interest—-elastic

2. ¥ Fiscal policy is ineffective even if investment is not completely interest-inelastic
= % Monetary policy is not effective even if investment is interest-elastic

4. % Monetary policy and fiscal policy are both effective whether used in combination or separately
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In terms of the [S-LM model, an easy money policy would:

Options:
1. # Shiftthel = 5 curve to the right
2. % Shiftthel = 5 curve to the left

3. % Cause the L = M curve to rotate upward because income would increase and thus increase the
transactions demand for money

4 % Cause the L = M curve to rotate downward and thus increase income as the interest rate falls
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Il general, the amount of SDES that nations could use on the dverdge Over a fiVE—‘}.?EElI‘ period without
repaviment is:

Options:

1. % 20 percent

2. % 50 percent



= ¥ 70 percent
4, % 90 percent
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which of the following is definitely not one of the purposes of the International Monetary Fund?
Options:

1. ¥ To promote international monetary cooperation

2. % To promote the growth of international trade

3. ¥ To promote flexible exchange rates

4 ® To promote maltilateral pavments and rmualtilateral trade
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Exchange arbitrage allows some people to realize a profit by:

Options:

1. % Purchasing a foreign meney today at a low price and selling it in the future at a high price

2. ¥ Buying foreign money in a low price market and simultaneously selling it in a high price markst



Z. % Putting their money in a country where the interest rate is highest

4. % Guessing which way the exchange rate will move
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As the rate of exchange falls, ceteris paribus:

Options:

1. ¥ Exports will fall and imports will rise
2. ® Exports will rise and irmports will rise
=, ¥ Exports will rise and imports will fall

4, % Exports will fall and imports will fall
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Assuming demand curves are elastic, a surplus balance of payvments can be eliminated by:
Options:

1. # Strengthening direct controls over imports of goods and services and capital cutflows



2. % Convincing other nations that they should follow inflationary domestic policies
3. ¥ Appreciating the rate of exchange

4. % Devaluing the rate of exchange
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& possible disadvantage of freely fluctuating exchange rates withiout official intervention is:
Options:

1. % Traders must contend with the possibility of an exchange-rate loss

2. % Nations would continually experience deficits and surpluses

% % The system is too complicated

4. % INations rmust Zive up cormplete discretion with respect to dornestic policies
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If & nation sets its exchange rate at some particular level and then rmaintains it at that level by rationing out
the available foreign exchange, the country is:

Options:

1. % Cperating with a pegged exchange rate

= % Allowing its rate to be set by domestic market forces
3. ¥ Practicing exchange control

4. % Relying on freely fluctuating exchange rates with official intervention
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From the bottom of the Depression (June, 1933) to the end of 1929, the money supply:
Options:

1. ® Decreased, but only slightly

2. % Greatly decreased

3. ¥ Increased by 30 percent

4. % Decreased by 40 percent
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The major reason why marny economists expected a sharp depression immediately following World War I1 was
the:

Options:

1. # Sharp increase in government taxes to quell inflationary pressures

2. % Lack of consumer goods to satisfy the intense consumer dermand

% % General reluctance of individuals and business firms to utilize their liquid assets

4. % Sharp reduction in government purchases of goods and services
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In testing of hypothesis the acceptance of a false hypothesis is referred to as
Options:

1. % typel error

= ¥ Typell error

% % Both type [ & type II error

4 # Correct decision
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Zeteris paribus, if a nation has a large current-account surplus:

Options:

1. % It cannot make large loans and grants to foreigners since to do 5o would cause it to run an overall deficit
2. ¥ Its capacity for undertaking aid is larger than otherwise

3 ® It cannot run an overall deficit as long as the capital -account balance is greater than the current-account
surplus

4. % It cannot have a deficit in its overall balance of payments
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In drawing a farmer’s supply curve for a commodity, all but which one of the following are kept constant?
Options:

1. % Technology

2. % The prices of inputs

3. % Features of nature such as climate and weather conditions

4, ¥ The price of the commodity under consideration
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If a straight-line demand curve is tangent to a curvilinear demand curve, the elasticity of the two dernand
curves at the point of tangency is

Options:

1. % The same

2. % Different

2. % (Zan be the same or different

4. % It depends on the point of tangency
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If the amount of a cornmodity purchased remains unchanged when the price of another commodity changes,
the cross elasticity of demand betweern ther is

Options:

1. * IMNegative
2. % Positive
2. ¥ Zero

4. % Tnity
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If the MU of the last unit of ¥ consumed is twice the MU of the last unit of ¥ consumed, the consumer is in
equilibrium only if

Options:

1. % The price of ¥ is twice the price of ¥

Z % The price of ¥ is equal to the price of ¥

2. # The price of ¥ is one half of the price of ¥
4. % The price of ¥ is square of the price of ¥

Question Number : 66 Question Id : 79840720052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:

Question Number : 67 Question Id : 79840720053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

A consurrer who is below the personal budget line (rather than on it)
Options:

1. ¥ Is not spending all personal income

2. % [sspending all personal incorme

2. % May or may not be spending all personal income

4. % [3in equilibriurm

Question Number : 67 Question Id : 79840720053 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:
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If a population follows normal distribution then the sarmpling distribution frorm it follows
Options:

1. ¥ Normal distribution

2. % Z - distribution

2. # F - distribution

4. # Chi-square distribution
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A Index nurmber where in the initial year is treated as base is

Options:

1. # Pasche Index number

2. # Marshall Edgeworth index nurmber
3. ¥ Laspeyres Index nurriber

4. % Fisher's [deal Index nurmber
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If we hawve constant returns to scale and we increase the quantity of labor used per unit of time by 10% but
keep the amount of capital constant, cutput will

Options:

1. % Increase by 10%

2. ® Decrease by 10%

3. % Increase by more than 10%

4. 9 [ncrease by less than 10%
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The cost that a firm incurs in purchasing or hiring any factor of production is referred to as
Options:

1. % Explicit cost

2. % Implicit cost

3. ¥ Variable cost

4. % Fixed cost
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Options:
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All the following curves are 1 - shaped except

Options:

1. % The AV curve
= ¥ The AFC curve
3. % The AC curve

4. % The MC curve
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The statistic used for testing partial regression coefficients in an equation
Options:

1. ¥ t - statistic

2. % F - statistic

3. % Rz

4. # Chi-square test
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Options:

3 % R
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If the LAC curve falls as output expands, this is due to
Options:

1. ¥ Econormies of scale

2. % The law of dirminishing returns

3. ® Diseconorries of scale

4. % Any of the above
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When o = 3% and P = % for the Cobb-Douglas production function, returns to scale are
Options:

1. ¥ Constant

= % Increasing

3. ® Decreasing

4. % First increasing and then decreasing
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which of the following is not an assumption of linear programuning?
Options:

1. ¥ Constant output prices

2. % Constant input prices

3. ¥ Increasing returns to scale

4, % Technologically fixed factor proportions
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Shadow price refers to

Options:

1. ® The change in the value of the constraint per unit change in the objective function

2. % The change in the value of the objective function per unit change in any one of the constraints
3. % The change in the value of the primal solution per unit change in the dual seluticn

4. % Change in the value of input prices
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Adjusted B2, where in the adjustment is for

Options:

1. ¥ Degrees of freedom
2. % Size of sample

2. % Value of R2

4. % Units of measurerment of dependent variable
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From a class of 10 students, where in male and fernale are in equal numbers, what is the probability of picking
size fermale students

Options:
1. % 08

2 % 05
z % ]
4 % Zero
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If factor prices and factor quarntities move in the same direction, we have
Options:

1. ® A constant cost industry

= ¥ An increasing cost industry

3. # A decreasing cost industry

4. % A stagnant Industry
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A example of a time series model in which the current value of a variable is equal to the most recent value
plus a randorm elerment is

Options:

1. % Random variable
z % Randormn walk

2. % Raider variable
4. % Radcliffe walk

Question Number : 81 Question Id : 79840720067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:
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In long-run equilibriurm, the pure monopolist (@s opposed to the perfectly competitive firm) can make pure
profits because of

Options:

1. ¥ Elocked entry

2. % High selling prices
3. ¥ Low LAC COStS

4. % Advertising

Question Number : 82 Question Id : 79840720068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:

Question Number : 83 Question Id : 79840720069 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

& test statistic knowrnl as variance ratio with two different degrees of freedom is
Options:

1. ¥ F - statistic

= # t - statistic

3. % 7 - statistic

4 % Discrete statistic
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The period of the business cycle in which real GDF is increasing is called the
Options:

1. % Expansion

2. % Paak

3. ¥ Recession

4. % Trough
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When the industry is in long-run equilibriam, the monopolistic cormpetitor will produce at the loweast point o
its LAC curve

Options:

1. % Always

2. ¥ MNever

I % Sometimes

4 % Often
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which of the following most closely approximates our definition of oligopoly?
Options:

1. # The cigarette industry

2. % The barber shops in a ity

Z. % The petrol stations in a city

4. % Paddy farmersin & P
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with reference to the Cournot model, determine which of the following statements is false
Options:

1. # The ducpolists do not recognize their interdependence

2. % Each duopolist assumess the other will keep its quantity constant

2. ¥ Each duopolist assumes the other will keep its price constant

4 # The solution is stable
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with reference to the Edgeworth model, deterrnine which of the following staterments is correct
Options:

1. ® The duopolists recognize their interdependence

= % It explains price rigidity

2. % Each duopolist assumes the other keeps its price constant

4. % Each duopolist assumes the other keeps its quantity constarnt
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The Lerner index equals

Options:

1. % MC - P MC
= ¥ [F -MZIP
3. % PIMC -P)
4. % MCIMT - B
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According to the theory of contestable markets, perfect cornpetition can occur

Options:

1. #¥ Cnly if there are a large nurmber of firms in the industry

2. % If entry into the industry is absolutely free and exit from the industry is entirely costless
2. % COnly in the absence of government regulation

4. % Cnly in the presence of foreign competition
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Games in which the gains of one player equal the losses of the other are called
Options:

1. ¥ Zero-surm games

2. % MNon-zero-surm games

2. # Prisomer’s dilermma

4. % Pure strategy

Question Number : 91 Question Id : 79840720077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:
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The strategy of maximizing the minirmum gain is called



Options:

1. % Minimax

2. ¥ Maxirmin

3. # Pure strategy
4. % Mixed strategy
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Cnasi-rent 15

Options:

1. % Equal to the firr's total profit

2. ¥ Greater than the firm's total profits
2. % Smaller than the firm's total profits

4. # Equal to the firm’'s 1oss
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Wwhich of the following is included in M

Options:
1. % Gold
. % Credit cards



2. ¥ Checkable deposits
4. % Money rmarket mutual funds
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The locus of general equilibrium points of exchange in a two-individual, two-cormodity economy is called
Options:

1. % The consumption contract curve

2. % The production contract curve

3. % The social welfare function

4. % The transformation curve
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In an economy of two individuals (4 and B) and two cormmodities ( and ), general equilibriurm of production
and exchange occurs whern

Options:

1. % METx= Px/Fy

2. ® MRSxv for Aand B = Px|Py
3. ® MRSxy)A = MRSxyB



4 W METxzy = iMESzv)A = MESxvwIB
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The demand for money will fall if

Options:

1. * Real GDFP rises

= % Real interest rates rise
3. % The GDP Deflator rises

4. % People expect deflation soon
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The locus of Pareto optimality in production and consurmption is given by

Options:
1. # The social welfare function

2. % The utility-possibility curve



3. #* The transformation curve

4. % The grand utility-possibility curve
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Ar ethical or value judgrment must be made in order 1o derive
Options:

1. # The transformation curve

2. % The consumption contract curve

3. % The grand utility-possibility curve

4. % The social welfare function
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Public goods are defined as those goods which can be consurmned by everyone or no one. which of the
following is not a public good?

Options:

1. % Judiciary
= % Lighthouse
2. % Education

4 % Firewnorks
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According to the monetarists, in the long-rurn, the Phillips Curve is
Options:

1. ¥ Vertical

2. % Horizontal

2. % Downward-sloping

4. % Upwmard-sloping
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Middle-income trap refers to countries who have transited from low income to middle income in the past five
decades. Many of them hawve, however, stagnated as middle-income countries. Which of the following is
unlikely to be one of the reasons for this stagnation?

Options:

1. % Climate change

2. ® Poor infrastructure
3. % Weak institutions

4. % Unfavorable growth conditions
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Which South Asian country has adopted Gross MNational Happiness as an index of the well-1eing of its citizens?
Options:

1. ® EBangladesh

2 % Bhutan

3. ® Srilanka

4. % Myanmar
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Measured in terms of Purchasing Power Parity (FFF), which of the following is the correct ranking of countries?
Options:

1. % USA; China; India; Japar; Fussian Federation

2 % China; USA: India; Japar; GermEny



3. % USA: India; China; FECTIANY, JAapan
4. % China; USA; Russian Federation; India; Japan
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The World Happiness Report has been published by
Options:

1. % The World Bank

= % World Health Crganization

3. ® UNDP

4. % United MNations
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Wwho was the visionary who advocated a planned economy for India and was honored by the nation with a
Eharat Ratna?

Options:

1. * Sriman Marayan
Z ¥ M. Visvesvaraya
3. % John Mathai

4 % C Syubramaniam
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Decentralized planning on the basis of Panchavati Raj institutions was recormumendsed by
Options:

1. ¥ Balwantray Mehta Cornrmittes

2. * Mahalanobis Cormrmittes

3. # Asola Mehta Cormmittes

4. # Gadgil Cormrmittes
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India anncunced at the Cop-21 that it would be opening eight Long-Term Ecological Observatories (LTEC).
The purpose of these LTEOS is to study:

Options:

1. # wildlife habitat
2. ¥ Climate change
3. % Ozone depletion

4. % Deforestatiorn
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The slope of the consumption function is equal to
Options:

1. ® APC

= ® APS

I ® AUTONOMoUS INvestment

4 ¥ MPC
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which of the following, is not cne of the UN Agenda for Sustainable Developrment, 20207
Options:

1. % End poverty in all its forms everywhere

2. ¥ Reduce the total population of the world by 1/3rd

2. % Achieve food security by 2030

4. % Reduce inequality within and armong nations
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Sustainable dewvelopment is described as the dewveloprment that meets the needs of the present without
comprormising the ability of future generations to meet their own needs. In this perspective, inherently the
concept of sustainable developrnent is intertwined with which of the following concepts?

Options:

1. % Social justice and ermpowerrnent
2. * Inclusive Growth

= % Globalization

4. % Carrying capacity

Question Number : 111 Question Id : 79840720097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:

Question Number : 112 Question Id ;: 79840720098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

which one of the following countries is the first country in the world to propose a carbon tax for its people to
address global warrming?

Options:
1. % Australia

2. % Germany



2. % Japan
4. ¥ IMNew Zealand
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It is observed that poverty in India is increasingly getting concentrated in six states. Which of the following is
not one of the six states?

Options:

1. % Crissa

2. % Madhva Fradesh
3. ¥ Andhra Pradesh

4. % Chhattisgarh
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what do we mean by the staternent, ‘India has achieved naticnal food security but has not ensured household
food security™?

Options:



1. ¥ Each household does not have a buffer stock
2. % Food production has shown an increase but per capita availability has decreased
3. % There is sufficient food stock but all households do not hawve access to it

4. % The number of people below the poverty line has increased
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which Indian economist linked poverty with the concept of entitlerment?

Options:

1. ¥ Jagdish Bhagwati
2. % Partha Dasgupta
2. ¥ Armartva Sen

4. % Arvind Panagariva
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In India the basic objectives of fiscal policy are econornic growth, distributive justice and



Options:

1. ® Optirmurn resource allocation
2. ¥ Price stability

2. % Full emplovmernt

4. % Reduction of inequalities
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which of the following prograrmmes has been recognized by the Guinness Book of World Records?
Options:

1. # Pradhan Mantri Mudra Yojana

2. % aadhar Identification

2. % Pradhan Mantri Jan Dhan Yojana

4. % Mahatrma Gandhi National Rural Emplovrnent Guarantes Scherne
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The International Conference on Population and Development held in Cairo (1994) suggested a Gender
Empowerment Measure to measure wornen's participation in society. Which of the following is not one of the
measures of empowerment suggestad by GEM?

Options:
1. #* Political Power



= ¥ Financial independence
3. % Health

4. * Education
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which of the following is not a necessary component of gender budgeting?
Options:

1. % Alignment of gender equality policy with the macro-econoric policy

2. % A separate budget for wornen
2. % Budget outcomes to be assessed with a gender perspective

4. % Better targeting and more efficient utilization of resources
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This state in India has shown a decline in the population of women as per 2011 Census. It also has the lowest
rate of sex ratio in the country. Which state are we referring to?



Options:

1. % Rajasthan
2. % Puducherry
2. ¥ Harvana

4 * Mizoram
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States which as per 2011 Census can be said to be in the fourth stage of transition according to the theory of
dermographic transition are:

Options:

1. # Kerala, Maharashtra, Punjab and Andhra Pradesh
2. % Kerala, Tarmil Madu, Karnataka and Andhra Pradesh
2. ® Kerala, Punjab, West Benigal and Crissa

4. % Gujarat, Orissa, West Bengal and Purijab
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Stratified sampling refers to:

Options:

1. ¥ Sampling from non homogenous groups of a population
2. % Sampling from even clusters of a population

3. % Systernatic sampling from the base strata

4. % sampling from homogenous group of a population
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which of the following in respect of Indian agriculture is not Correct?
Options:

1. % India is the third largest producer of chemical fertilizers in the world
2. % India is the second largest producer of vegetables in the world

=. ¥ India is the largest producer of coconuts

4. % India is the largest producer of mango, banana, cheeku and acid lime
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The Naticral Agricultural Policy, 2000 ermphasizes —————-————-————- as a measure of land reform
Options:

1. % Tenancy reform



2. % Co-operative farming
= % Distribution of surplus land
4. % Consolidation of holdings
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Aggregate Measure of Support (AMS) in the context of World Trade Organization (WTO) refers to:
Options:

1. ¥ The minimum support price guaranteed to the farmers

2. % The quanturm of subsidy given to the agricultural sector

% % The issue price of paddy and wheat

4. % Insurance cover for crops
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The multiple regression equation consist of
Options:

1. % More than one partial regression coefficient

2. % Several intercepts



= # Several correlation coefficients

4 % z - srores
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which of the following is not part of the Make in India prograrme?
Options:

1. ® Ease of doing Business

2. % Opening up of new sectors like defense for 100% FDI

3. ® Developing industrial corridors and smart Cities

4. ¥ Facilitating easy exit for investors
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Which of the following is not a criterion for declaring an area as an urban area?
Options:

1. ¥ Population of more than 5,000

2. % Density of population of more than 400 persons per square kilometer

= ¥ 60% of the households to be covered by supply of electric power

4. % 75% of male workers to be engaged in non-agricultural professions
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The absence of barriers to entry in monopolistic competition means that in the long run firms
Options:

1. ® Earn supernormal profit

= % Earn zero economic profit

3. % Incur loss

4. % Cuit the market for lack of profit
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The annual financial staterment is laid before the two houses of Parliament in accordance with:
Options:

1. % Article 74

2 ¥ ATtCle 112

I ® Article ZEB

4 % Article 370
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Options:
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The inequality of income can be measured by using

Options:

1. % Mean

= % Mean deviation

3. % Standard deviation

4. ¥ Lorenz curve
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Cross-holding, warehousing, strategic sale, etc. are the methods of -—-—-—-
Options:

1. ® Investments

Z. % Privatization

2. ¥ Disinvestments

4. % Depreciation
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Options:
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which of the following is not true of the Regional Rural banks (RREs)?
Options:

1. # They provide direct loans to small and marginal farmers

2. ¥ They are co-sponsored by Reserve Bank of India

Z. % They also perform other banking operations

4 # State Governments are share-holders in RREs
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EBank rate refers o

Options:

1. # The rate at which banks lend to its Lrirte Dorromwsrs
2. % The maximum rate that banks can pay for deposit
Z. % The rate at which banks rediscount bills with REI

4. % The rate of interest charged on inter-bank transactions
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Mational Securities Depository Lirmited SDL) deals with:
Options:

1. # Bearer bonds

2. % GDRs

3. % Electronic shares

4. % Debhentures
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Correct : 2 Wrong: 0.66

e WOLT Custormer I:KYC:I regulati-:lﬂs hawe been introduced in financial transactions under the regulations
of

Options:

1. ® Banking Companies Act

= % Prevention of Money Laundering Act
3. % Reserve Bank of India Act

4. % Cormpanies Act
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Correct : 2 Wrong: 0.66
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Question Number : 137 Question Id : 79840720123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

‘Currency war’ refers to a situation in which countries indulge in:
Options:

1. % Amassing dollars

2. % Allowing free convertibility of currencies

3. ¥ Devaluing their respective Currencies

4. % Accurmulating gold
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Question Number : 138 Question Id : 79840720124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

which of the following is not a founding mermber of the Asian Infrastructure Investment Bank?
Options:

1. ® India

Z % China

3 ¥I5A

4. # 1K
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Question Number : 139 Question 1d : 79840720125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Under the UM mandate, which of the following organs is responsible for social security?
Options:

1. ¥ General Assembly

2. ¥ International Labour Crganization

% % Economic and Social Council

4 ® UNESCO
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Question Number : 140 Question Id : 79840720126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The purpose of the Himavat scheme launched by the Ministry of Rural Developrment is to
Options:

1. % Spread secular ideas ameng the rural population

2. % Encourage education among minority cormmunities

% % Forrn self help groups for rural wormen

4. % Impart placement linked skill developrment to the vouth from J&K
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Question Number : 141 Question Id : 79840720127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The "1000 Days Approach’ deals with which of the following areas?
Options:

1. ® Prograrmme to selectively breed farm animals

= % Cualitative improvernent in school education

3. % Ensure nutritional foundation of child

4. % Action plan to implement the ruling party’'s manifesto
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Question Number : 142 Question Id : 79840720128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

What does mornopolistic cornpetition have in corrumorn with rmonopoly’?
Options:

1. # Mutual interdependence

2. % The ability to collude with respect to price

3. % A large number of firms

4. % A downward sloping dermand curve
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Question Number : 143 Question 1d : 79840720129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct : 2 Wrong: 0.66
For a given set of data ¥1, ¥2 —--- ¥n, all positive:

Options:

1. % AM = GM = HM
Z ¥ AM > GM > HM
3. % GM » AM » HM

4. % HM > AM > GM
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Question Number : 144 Question Id : 79840720130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
In case of symmetric distribution;

Options:

1. % Arithrmetic Mean > Median > Mode
2 % AM =CV =5D

2. ¥ Arithmetic Mean = Median = Mode
4. % All central tendencies are same
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Question Number : 145 Question 1d : 79840720131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
_hi square distribution is 3 ----——----—-- distributicon

Options:



1. ¥ Asymmetric
2. % Syrnmetric
3. % Positively skewed

4. % Rectangular
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Question Number : 146 Question Id : 79840720132 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

If probability shooter & hitting the target is 0.6 and shooter B hitting the target is 0.8, What is the probability
that when both try simultaneously, the target is not hit

Options:

1. % 048
Z % 024
3. %02
4. % 008
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Question Number : 147 Question Id : 79840720133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

To analyze the breakdown of machinery the statistical distribution used is ———---——-
Options:

1. % Binormial



2. % Poisson
2. % Students-t

4. % MNormal
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Question Number : 148 Question Id ;: 79840720134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66
The theoretical lirnits of correlation coefficient are

Options:

1.9 -1to+1

Z % 0tol

3% - 10to +10

4 % 0to 48
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Question Number : 149 Question Id : 79840720135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct : 2 Wrong: 0.66

The sarmpling method used to draw a representative sample from a homogenous population:
Options:

1. % Sequential sarmpling

2. % Snow ball sampling

2. % Sampling

4. ¥ Simple random sampling
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Question Number : 150 Question Id : 79840720136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

The theoretical distribution used for testing ‘whether a population follows a specific theoretical distribution’ or
Inot:

Options:

1. % F - distribution

2. # Chi-square distribution
2. ¥ 7 distribution

4 % t - distribution

Question Number : 150 Question Id : 79840720136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 2 Wrong: 0.66

Options:





